
=LPDB����

3RPLHV]F]HQLH�5R]NãDG���$�����/$%��.5<0,1$/,67<.,��7\J������

�������������7\J��������

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD� PJU�0DVáRĔ
3U]HP\VáDZ� $�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�/�

�������������7\J��������

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD� PJU�0DVáRĔ
3U]HP\VáDZ� $�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�/�

�������������7\G]��

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�/�

�������������7\G]���

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�/�

SR
QL

HG
]L

Dã
HN

�������������7\J��������

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�:U�

�������������7\J�����

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�:U�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�
$�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�:U�

�������������7\G]���

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�
$�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�:U�

�������������7\G]��

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD� PJU�0DVáRĔ
3U]HP\VáDZ� $�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�/�

Z
WR

UH
N

�������������7\J��������

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�:U�

�������������7\J��������

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�:U�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�
$�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�:U�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�
$�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�:U�

�������������7\G]��

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�:U�

ĤU
RG

D

�������������7\J��������

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD� PJU�0DVáRĔ
3U]HP\VáDZ� $�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�/�

&
]

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���$�����/$%��.5<0,1$/,67<.,��7\J������

�������������7\J�����

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD� PJU�0DVáRĔ
3U]HP\VáDZ� $�����/$%��.5<0,1$/,67<.,� ���.6%�/�
���%ĝ�/�

�������������7\G]��

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�/�

�������������7\G]���

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� $�����/$%�
.5<0,1$/,67<.,� ���.6%�/����%ĝ�/�

F]
Z

DU
WH

N
3

W
6

R

�������������7\J����

%DGDQLD�'1$� GU�0\JD�1RZDN�0DJGDOHQD�
$�����/$%��.5<0,1$/,67<.,� ���.6%�5�
���%ĝ�:U

�������������7\J�������

'DNW\ORVNRSLD�L�HNVSHUW\]D�GDNW\ORVNRSLMQD�
PJU�0DVáRĔ�3U]HP\VáDZ� $�����/$%�
.5<0,1$/,67<.,� ���.6%�5����%ĝ�/

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


